STANDARD FACTORISATIONS

Factorise:
m’ 2 X¥-16 3 64-m’ 4 9a°-25
- (u Ynt) = pok)eH) (B-mBw) = (30.-5)(30-+S)
5 x'=0.36 6 a'b’-¢ 7 9x’ - 8 (x+1)-9
= (x-06)(c+0-6) = (ab~c )bre) '{SL‘Z(’ Joxty) = [+ -3)(xH +3)
= (x-2) (2 +4)
9 X y 10 %-1 1 p'-g 12 -’;—'-%
=(x (L’f z =[p-L)/p+L _
PP ) Y b
17 a’b-ab’ 18 124’ - 3ab’ 19 3x’y-27y 20 (x+y) -4
zab(02-b) = 3a(4a-b) =3y[#-1) = (fey-2) ety +)
-ab(@-b)bth)  =2a (Za Bath) j(L _3 [,d_‘;)
21 @’ -(a-b)’ 22 X-Xy-9x+9y 23 X’+3x-4x-12 24 p'q-p'-16q+16

= (& - (a-b)[at (b)) = x2(x-) ‘)(L ) -1(7c+3) bar3) = pr(a-1) - 16 (3-1)
e d T R

- (t-y 3)(x+3) ’(’”‘7’)(" D) 1-) p—a)(F+4)
25 a’x-x 26 48a’ - 75b° 27 (1+hy -1
- x (a-1) _3(1602-256) = (1eh-1)(i+h 4] ( ){,L )
=% (o-)(aH) -3 {4(\_51,)(4&%) = h (h+2) s
29 When (p+2)’ - (p—2)’ is factorised, the answer is: [F = (F -‘2.:)[ F+L+{P~2’)]
A 2p°+8 B -8 C 2p°-8 D 8p =4 X Zp

v | 3
30 Indicate whether each answer is a correct or incorrect factorisation of 4 — b

b~ a

@(%‘ B(a+t) [] (2-5)4+8) @ (2-b)(2-b) (@) Le=tharbia’+t')

ab”
oF _ b= _ _f*_‘_l>_>&+,b.)=u ,“.217
b ?“(b a){b o ob /| b
_ (a-bYa+s)(a*+b*)

. b=
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STANDARD FACTORISATIONS
31 y' =125 32 ' +1 33 8p’+27 34 216-a
35_”5-: 35,53= [3_5)(31+.55+2_5)
2241 = z2+122 (= +1) (2= z +1)
8 p>+27% = (2)>+ 3% = (2p +3)(4p*- 6p t9)
216 —ab = 63— o = (6-a) (36 +6a+ )

@ 35 (x+57+(x-2)° 36 (x+3)’-(x-4)" 37 b°-a° 38 64a’ +8b’
(x45)>+ (x-2)*= [45+ (-2)|[ (145~ (etS)ocL) + (- 2)*]
= [2x +3) [L’wt x(I0-3~4) +25+10 +4)
= (2x+3) (x*+3x +.349) )
(2x +2)%- (x- L) [22c43 ~ (-))[lr3)+ (2xs3)l-4) + (c-4)°)
_ (x4 7) [t baxrbat + x[1-5-8) +4-11+16 )
_ (x+7) [FrP-x t12)]
b6 b - (b2 a7)(brrab? + o)
o (bea)(bra) (b ar bt +a)

(Lo? +8b° = 8 [8a*+D?) - gf6a)+5°)
- 8|[hkat ~2ab + b))
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STANDARD FACTORISATIONS

39 IR -3xr' 40 px'-piy 41 x4y 42 §._2_Z.

[ln'Rb A“.rs _lI;TI‘(KS ) _‘4_;_ {K r(K"' rR+r)

; -2) < ph! p-z[pe 2p + )
Lyt = (1) + () /1 VLl L

3 > |2 3 4+€+9)
RO G

B43 am’+a'n’ = bn’ - b'm® 44 4 -9° -4 +9 45 (x+h)' - <’
e Q20— b - bEAmEs 0® (34 n2) — b2 (it + m?)
= (m+n2) (a® - b?)
e = (W\Hl)/mz— mn + nl)(a—b)(a}+ ab + b"‘)
paS _9qt — b +9 - 2 [bad-9) ~ (427-9)
- = (42-9) (-1)
(21 3)(zL+3)(x Dxz+x+1)
(guh [( ]{ [c+h )+ () + }
N [ i+ x (2hth) + K]
- h[3x + 2ho + h*]
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STANDARD FACTORISATIONS

46 o'+ (a-b)’ 47 (a+b)’-(a=-b) 48 2x+1)'-(2x-1)
2+ -b)= [a +(0L—J>))[az—-a[a-b) + (a-bY]

- [a -b)[ar+ab -2ab +5)
:(Zm—b)(&z—-&ﬁ-l—b") ,_
(od—b)%,_ (a—b)z’: (_Za:i—b) —(a-b):)[[a+b)1+/a+b)/&-b) + (o.—-b)zj bz}
)b [3ar+2ab-2ab 4 p) = 25 3 + |
(Zy(_+l)5—~ (Z?L'I)}: [Zx_-H - (Zx-i)][(Z)L-H)Z'I'/ZJLH)(ZL—I) + [Zx_—() ]
= 2 [l + b — b+ -1+

— =2 [lx*+ ]

49 8- (2-x)’° 50 a'b'-a’b 51 2(x—y)' +54

8 _(2-x)P= 2°- 2-%)%= 2-(0)[2+ 260 + ()]
- x[Io -2x —bx +2 2 2[xr-gx +10)

oS b —a?h = a’-b(oéb*»l) = zb[(ab)*‘— ]
= a*b {ab-l][(ab)’w ab +1)
) (%_(W 54 =1 [(L_g)s+2ﬂ = 2[(1-9)5 + 33]
= 2[fp )l =3y + )
— = L(x.g +5)[11—2_9c3 +le— 3+ ”]

53 When (2x+ 1)" + (2x = 1)* is factorised, the answer is:
A 212X +1) B 4x(12x*+1) C 24x° +3) D| 4x(4x*+3)

(1) P+ (2 -1)* = [kt + (o) ) ()21 + (22.-1)']
= 4X[4ﬁ+ bbb+ 1)
= by (47_2 + 2 )
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